Name ______________________________________ Core _____         Date Monday, 3/7                   Due Date Monday, 3/11
Problems of the Week: Quarter 3 Week 4  


Show work OR write an explanation of how you arrived at your answer on a separate piece of paper. Work or explanation is required for each problem to receive credit!! Write the letter of your final answers in the answer box. You may use a calculator. 
	Use the following information to answer Questions 1–4.
These were the daily high temperatures in a North Carolina town from May 1 through May 31: 
73, 70, 67, 70, 55, 62, 65, 83, 87, 56, 55, 72, 56, 67, 81, 65, 67, 48, 81, 78, 77, 65, 63, 89, 91, 56, 58, 67, 79, 59, 67.

    1.  Which of the temperature intervals includes the greatest   

          number of recorded highs during the month?

A 50°–59° 


B 60°–69°

C 70°–79° 


D 80°–89°

    2.  What was the average high temperature to the nearest degree 
          for the month?

A 77° 



B 71°

C 69°



D 62°

    3.  What was the median high temperature?

A 65° 



B 67°

C 70° 



D 72°

    4.  Which high temperature is the mode?

A 55° 



B 65°

C 67° 



D 81°

5.  Dalton polls students in one of three 8th grade lunch periods, asking how they feel about changing the name of the school’s mascot. Which answer best reflects the possible error in his polling method?

    A   Polls should never be taken during lunch period.

    B   If the lunch period was only 8th graders, it would not reflect 
         the entire school’s opinion.

    C   Students have no business taking polls.

    D   Eighth graders are a representative sample of the school’s 
         population; therefore, the poll was appropriate.


	6.  Martin was told to conduct a random sample of students at the high school. He sampled the 3rd period junior P.E. class. Why isn’t this a random sample?

    A  Most students in P.E. will not stop their activity long enough 

        to answer Martin’s question with any thought.
    B This class was made up of only the juniors who were 

       scheduled into third period. They may not be representative 

       of the junior class or of the entire school.

    C Martin must include at least one other class, in particular, 

        either the  freshman class or the sophomore class.
7. What is the correlation of the scatter plot?
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A positive correlation



B negative correlation 

C no correlation



D slightly negative
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8.  The graph shows Cherrie’s height at two-year intervals. If the trend in Cherrie’s growth continues, which is the best prediction for Cherrie’s height at age 14?
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A   6 feet, 4 inches

C   5 feet, 1 inch

B   5 feet, 10 inches

D   4 feet, 11 inches




	9.  Chloe looked at the data and said, “The median is 37.” Which answer points out Chloe’s mistake?

38, 42, 51, 55, 37, 57, 34, 44, 56

    A   Chloe should have added the numbers and divided by 9. The 

         median  is 46.

    B   Chloe did not make a mistake; the median is 37.

    C   Chloe forgot to arrange the numbers in ascending order. The 

         median  is 44.

    D   The median is the number which appears the most; there is no

         mean.

10.  The bar graph shows the monthly number of sunny days from December through May. Which answer misrepresents the data?
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    A   May and April had approximately the same number of sunny days.

    B   April had a few more sunny days than May.

    C   January and February had the least numbers of sunny days.

    D   January and February had almost no sunny days.

11. The stem-and-leaf plot below shows the results of a student survey 
      about the amount of time spent on homework assignments. Based 
      on the plot, how many students spent less than 30 minutes doing 
      the homework assignment?


      A.  2 
B.  3


C.  4         D.  1


	The two bar graphs represent the results of a survey to determine the students’ favorite teacher. Use the figures to answer Questions 12-13.
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12.  Using Graph 2, which teacher received twice as many votes as Mr. T?

A Ms. P

B Mr. D

C No one received twice as many votes.

D Ms. B
13.  Why do the bar height differences in Graph 2 appear to be greater?

    A Since the vertical scale does not start at 0, Graph 2 gives the 
        impression that Ms. B was overwhelmingly the students’ favorite 
        teacher.

    B The differences would not appear to be so great if the scale went by   

        5’s rather than by 10’s.

    C Graph 1’s maximum vertical scale is 50, while Graph 2’s maximum is 
        only 40. This is the main reason for the difference in heights.

    D Since the voting for each teacher was different, Graph 2’s bars reflect 
        this accurately.
14.     

TV & Homework Minutes per Night
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What are the first and third quartiles of the box and whisker plot above?



A.  15 and 110


C.  75 and 170

B.  60 and 110


D.  45 and 50




Answers





1. ______





2. ______





3. ______





4. ______
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14. _____





15. _____
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